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50, will be treated‘as' rnafr)raeticeﬁ;\ S

-~ 2. Any revealing'of identification, appeal to.evaluator and /or equations written-eg, 42+8

S,

e

C.

2 a.
b

3 a:
b.

C.

Fiter 3 hrs.

What do you understand by the te,nn relative strength mdex‘l&w (03 Marks)
D1fferent1ate between investmént and speculation. (07 Marks) -
and market portfolio for.15 periods are glven below

W

Period | Return q;% , Return on market | Period Return on -| Return on rnarket“ A
stock A(%) portfoho (%) stock A(%) |- portfolio (%) -

(x ’ . . 5 - '. ‘ i <" : . 1‘.“\ ',

12;
=11
116,

(10 Marks)

4 (03 Marks)
Explain the vanous types of risks mvolved in investing in bdnds ~ - (07Marks) L
~ The stocks of ‘ABC’ and ‘XYZ’ )ﬁ ld the followmg returns for the past two years " s

%018 (2]
2% | 18% |
4% | 12%

) “What is the exp;e ’bed return on portfoho made up of 60% of ABC and 40% of XYZ
11) Find out the standard deviation of each stock

1v) What is thg ortfoho risk ofa ?ortfoho made up of 60% of ABC and 40% of XYZ" ; i
e : o ol =4 L e Bl ' (l(lMarks)

What is systematic and uns 03 Marks)

Discuss the bond management strategies. SR (07 Marks)

[

Two assets ‘A’ and ‘B’ have the followmg risk and return charactenstlc g

The return of ‘A’ 1522, return of ‘B’ is 20 , :

‘The standard deviation of ‘A’ is 15 and the standard dev1at10n of ¢ B’ is 18

The correlation, between AandBis-1.: s o UH R TR e

Determme tne minimum rlsk portfoho for A andB. . . . B ', . (10 Marks)
) - W y i A Bl e ® Bl % G, '}

“
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(03 Marks)
(07 Marks) -

a.. What is y1e1d to matunty Pt
b. Discuss the function of secondary market. .
C, The followmg three portfohos provrde the part1culars gl

Portfoho Average annual return ,S D.
s R L s b R 27
B . ; 14 | 18
‘Market | ¢ "1'3 e 1240
: Risk free rate of interest is 9% &
" .. 1) Rank these portfolios using sharpe and Treynor s methods P . o Bl g
“ee 1) Compare both the indices. - et S T . " (10 Marks) <
5 a; Whoisa deposrtory partlcrpant. r (03 Marks)
e Explain the efficient marke‘t: hypothe51s (07 Marks)

e A portfohoﬂmanagementWServrce manages a stock

d consrstmg of 5 stocks with the
. following details :

Market value | . Beta | Expected return
i ~ 2,00,000 Al 15%
ot T 1,00,000 GEi 14%
1,50,000 0.90 15%
2,50,000 1.20 16%
3,00,000 1.40 14%

- If nsk free rate of return is 9%, expected return of the marke

" i) What is the expected return of'the portfolio as pe CAPM

is 15% then

 be 13.5% for th
. gvallQng.seﬁ

(20 Marks) ' _‘

i1) Wthh stocks are undervalﬁed or overvalued" (10 Marks)
ot B What is money market‘7 Y » (03 Marks) i
'b. State CAPM and its. assumptrons k (07 Marks)
c. The return of ABC company  at present is 21%. This is assumed to continue for the next
5 years and after that, it is assumed to have: the growth rate of’ 10% indefinitely. The dividend .
paid for the year 2021-22 is 32%. The required rate of return is 20% and the present price is"
" Rs. 57 What is the estimated price accordmg to the two»stages model? (10 Marks) -
, 57 3 _Dlscuss thegadvantage of 1nvestw \\g in mutual funds. (03 Marks) .
" b. Whatis portfoho revision? w are the portfolio révision techniques? (07 Marks)
= @ Calculate the duration for bond ‘A’ and bond=B’ with 7% and 8% coupons having maturity
T penod of4 years The face value 1S Rs 1000/=. @Both the bonds are currently yielding 6%. =
,'?":.‘? 'Z N, Y (10 Marks) ,‘
g




